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2 33 THIER 9ol W T gEt Y SR I W E |

39 # Tfd 95 km/hr ¥ SR @A A H
125 km/hr 8 | Th G 1 9K HH A A
foraaT Tm @ 2

(a) 203HS

(b) 18THE

(¢) 163dHs

d) 143Hs

s aueh wfeRifiar #, fgenfedi H1 9 km €@

¥ vt 3 % forg o foRe am deeRt s | >

T W A Y Ha T | g & s
3@ S @I 1 " 3R 30 fFe § qu T wHal
2 | af 7 9t Ht g H fd 8 km/hr B, A
fordran A1 wifq == gt 2

(a) 16 km/hr
(b) 20 km/hr
(¢) 14 km/hr
(d) 18 km/hr

T AT g9 F AL A § | I Hen fen S @
it g i % R fem Smar @ e

gmﬁsﬁ%agmaﬁ%laﬁmamm y
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=t ?
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(b) 85
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(2-A)

A, B 3 C 3Tl T %R I HEA: 20, 25 3N ‘

30 f&i # QU L Fhd & | A 3R B I et -

3G 1 HI AT FW & | a9y, 3 10 T ¢
30 Be W E | FA F wh TR A C HaN
T HET 8 | HE B G FA H C H R o
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(a) 4f@

) 3f&

(c) 5 &

@ ef@

frfofiaa § ¥ SF-a1 w9 T& T B 2

(a) Tham 1 1987 § gH0T 3R f9 §Y TS
¥ ok L TH TS & w9 H wiiua foRa
™ o

(b) TS YES Tk T TSA-EF Al

(©) TSa Tied sifufiam, 1956 gRI Ficeh i
34 fema T o

@ 1960 T s TST H oA N HERT H
fawres fopen T o

fraffea § ¥ fFa wma & TsgEfa 3R
gt AT i UG 7@ T @ ?

(a) HIIG TLTHVH

(b) feRT EEA

(¢) .3, ALETH

@ Hem wfia &

R i SEUAT, 2011 % IHER, WRA h
frefefaa # @ fra smgfed W Sem arel
=1 gferera el 3tfees 8 ?

(a) sl
(b) HUSt
(c) adI
@ K



PART A
GENERAL ABILITY AND INTELLIGENCE

1. Two trains are approaching each other on
parallel tracks. Their lengths are 700 m and
400 m, respectively. The speed of the first
train is 95 km/hr and that of the second train
is 125 km/hr. The time required by the trains
to cross each other is :
(a) 20 seconds
(b) 18 seconds
(¢) 16 seconds
(d) 14 seconds

2. In a swimming competition, the players were
asked to swim 9 km upstream and then swim
back to the point of starting. The winner of the
competition could complete the task in 1 hour
and 30 minutes. If the speed of the current of
the river water was 8 km/hr, the speed of the
winner is :
(a) 16 km/hr
(b) 20 km/hr
(¢) 14 km/hr
(d) 18 km/hr

3. A wire is in the shape of a circle. It is
straightened and reshaped into a rectangle
whose sides are in the ratio 6 : 7. If the area of
the rectangle is 4200 sq.cm, the radius of
circle is, approximately :
(a) 40cm
(b) 42cm
(¢) 4lcem
(d 35cm

4. In a party, each person takes at least one
beverage. There are three beverages in the
party — tea, coffee and milk. Each beverage is
consumed by 30 persons. Five persons, who
take tea, also take milk. Ten persons, who
take milk, also take coffee. However, no
person takes tea and coffee both. How many
persons are there in the party ?
(a) 90
(b) 85
(c) 80
d 75
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(3-A)

A, B and C alone can finish a job in 20, 25 and
30 days, respectively. A and B together start
doing the job. However, they leave it after
10 days. The remaining part of the job is
finished by C alone. How many days did C
take to finish the job ?

(a) 4days
(b) 3days
(¢) 5days
(d) 6days

Which one of the following statements is not
correct ?

(a) Goa was established as a State by
separating it from Union Territory of
Daman and Diu in 1987

(b) Mizoram was earlier a Union Territory

(¢ Karnataka was created by the States
Reorganisation Act, 1956

(d) The State of Bombay was bifurcated into
Gujarat and Maharashtra in 1960

Who amongst the following has not occupied
the office of both President and Vice President
of India ?

(a) Sarvepalli Radhakrishnan
(b)  Zakir Hussain

(¢) K.R.Narayanan

(d) Neelam Sanjiva Reddy

As per the Census of India 2011, which one
among the following Scheduled Languages of
India has the highest percentage of speakers ?

(a) Bengali
(b) Marathi
(¢) Telugu
(d) Urdu
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11.
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9q g s genet & 9R # fefafed
¥ ¥ BH-HT Hu qE 7@ 8 ?

(a) YIS TR W Y=Edl eI % gal h
FA T F Hu-A-H TH-faer ve e
% forg smfera &

o frem & auft diFi = 3 eggfed
i ot srgfed Seemfaal & forg
STREIVT T I B

© 3 sEvEs B, @ U9 I fser ot
(OBCs) & fow Im&mwn &1 gEa™
Tehd &

JarE fates sEn % fag, awa &
gy gN UM % W d TS
fratam smye g foran S &

YRd ¥ EEH % IS 14 $ IFIER

frfafigs # & $H-01/HH-3 B 6 2/8 ?

1. 9% 14 Haw d§ @r am e o
fpfl qET@ YR % AW IR HGW
qifeafert arel % @rg guqel fawg feman
St 2

9. eAE 14 Wid % Tea-dd # ffy &
oy oA a1 fafEl & e s H
TRE YEH HT 2

1 fw Y He H @ FFE IR A

(a) ad 1

(b) HaA 2

(© 130T 23gFt

@d TALAN2

g aifige WRdE SET e ad ft T8 ot
ot g ad ¥ cvEdis SoET U FEfa
fersrear s+ 7 2

(a) HE: 1861 3R 1881

(b) HES: 1776 3R 1801

(c) AN 1872 37 1881

(d) A 1881 37 1891

(b)

(d)

12.

13.

14.

15.

(4-A)

ZIf-3-#g wia # fefafas & & f6w
ST & el §9 ¥ TG 2 ?

(a) IR

(b) @t

() e

(d) @I

qeRple wRa § 7 GEEd % i % eR A
ffafga § & S 597 T8 78 2 ?

(a) g%mmﬁmawmﬁmm

(b) HREm w1 IHE @ UM A@ (village
accounts) sl At =1 AU HET A1

(¢ wifa wm N wHEd FE-gUTEt  H
gfifTea e gigan % wdedl § | Th o0

@ ot wwa A, wft fame gfemn Hi sufefd
# Ho= T I A

frafafgd § @ SH-a/HHA, JRE T

depfrt ot R ggo @Rl % A S

F9T I 7 il #/2id § ?

1 5O d W ES I TSR S

2. $O Sfeqdl Sl IR

3. S0 A8 % An # afEdd

= fu e e w1 @ HEE IR YA

(a) Had 1

(b) Hae 13 2

(¢ 1,233

(d) Had 3

et sfem § dafa (dre), fefafaa 3

3 forg 9 & ST ST R ?

(a) Wtg Il &1 4 9T

(b) TN HTHTA I Th WA Hg

(c) WeTIGH 7g i Tl

@ 3y 5w H T qfe TQl




9.  Which one of the following statements about
Panchayati Raj Institutions in India is not
correct ?

(a) Not less than one-third of the total
number of the offices of Chairpersons in
the Panchayats at each level are
reserved for women

(b)  Reservation for Scheduled Castes and
Scheduled Tribes are provided for at all
the three levels of local bodies

(c) States can provide for reservations for
the Other Backward Classes (OBCs), if
needed

(d) State Election Commissioner is
appointed by the President of India on
the advice of the Governor to conduct
Panchayat elections

10. Which of the following statements in terms of
Article 14 of the Constitution of India is/are
correct ?

2 e Article 14 would apply only when
invidious discrimination is meted out to
equals and similarly circumstanced
without any rational basis

2. Article 14 guarantees equality before the
law or the equal protection of the laws
within the territory of India

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

11. In which year was the first All India Census
attempted and from which year did the
Decennial Census become a regular feature ?
(a) 1861 and 1881 respectively
(b) 1776 and 1801 respectively
(c) 1872 and 1881 respectively
(d) 1881 and 1891 respectively
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12.

13.

14.

15.

(5-A)

Damin-i-Koh is essentially associated with
which of the following tribes of India ?

(a) Lushai
(b) Khasi
(¢) Toda
(d) Santhal

Which one of the following statements about
the headman of the village panchayat in
medieval India is not true ?

(a) The office of the headman was always
hereditary

(b) The chief function of the headman was
to supervise the preparation of village
accounts

(c)  One of the duties of the headman was to
ensure the proper working of the caste
system

(d) In eastern India, all marriages were
held in the presence of the headman

Which of the following do/does not represent a
break between the Early Harappan cultures
and the Mature Harappan civilization ?

13 Large-scale burning at some sites
2: Abandonment of certain settlements
3. A shift in the course of the Hakra river

Select the correct answer using the code given
below :

(a) 1only

(b) 1and 2 only
() 1, 2mnd's
(d) 3only

Tosali is known in Indian History as the name
of :

(a)  the Jain brother of the Buddhist Upali.
(b)  a provincial centre in Mauryan Empire.
(c)  wife of Mahapadma Nanda.

(d) asacred river in Andhra Pradesh.



16. fr=fafga & @ <9 9 T AT = 9w

272
(a) fewTera weu
o) fafEw
(c) HA§H
@ sfem
17. SHat 2020 H GEU R TR FA qA GO
IR G’ wu TSI w faem feem mmo
frafafga & @ fra T+ o 59 w58
& T == = 2
(a) QIgU
(b) <
() THU
@ Toeam
18. fowdifen sia & wed #, f=fafes @ @
HH-91/FH-A HU TE 2/2 2
1. 8 ¥t =S oowi H W g @
2. 3T FI%A 50,000 sq. km H IAUH 7
3. ug Ivhh fiwe ordt & fora 2
= feu 7w Fe w1 @ = FE W g
(a) ad 1
(b) had 131K 2
(c) Had 2
@ 1,23R3
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19. frafafigs & @ $Fa TR e § T T F

20.

21.

22.

(6-A)

form fooa 727 2 2

(a) TWHEaE (%E)

(b) Uexew (3 Hawis)
(c) A (ST)

(@ o (arifegan)

frafafea & & ®F3 TR v H @€ S
fopn fedra 787 2 2

3@

3

B

o Ay

Hr= feu U e w1 FE W oEd W ghT
(a) <had 13 2

(b) haet 131K 3

(c) had 23R 3

(d) I 33 4

I I

frfeafga § @ -1, i & Sl w1 dd 2 2
(a) R faEsA

(b) TR HerA

(c) TEMEMS Afufshan

(d) Sepr-TEREs rfifsn

¥ 2022 ¥ ¥ifqe (Physics) ¥ T9d JREHR
formes foru wem fopam w2

(a) &S & fa®™ (Evolution of Universe)
(b) TETCH TTeTHE (Quantum Entanglement)
(c) =% B (Black hole)

(d) o= Wfah (Laser Physics)



16. Which one of the following states is part of the
Ganga Basin ?
(a) Himachal Pradesh
(b) Sikkim
(¢) Assam
(d) Odisha

17.  Union Territories of ‘Dadra and Nagar Haveli’
and ‘Daman and Diu’ were merged together in
January 2020. Which one of the following
cities was made capital of the merged Union
Territory ?
(a) Dadra
(b) Diu
(¢) Daman
(d) Silvassa

18. With reference to Lake Victoria, which of the
following statements is/are correct ?
i [ The lake is divided among four countries
2: Its area is more than 50,000 sq. km
3. It is situated in the African rift valley
Select the correct answer using the code given
below :
(a) 1only
(b) 1and 2 only
(¢c) 2only
d 1,2and3
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19.

20.

21.

22.

(7 -&)

Which one of the following cities is not
situated along river Rhine in Europe ?

(a)

Strasbourg (France)

(b) Rotterdam (The Netherlands)
(¢)  Cologne (Germany)
(d) Vienna (Austria)

Which of the following cities are not situated

along the Persian Gulf ?
1. "Doba

2:v5 “Dubait

3. Jeddah

4. Yanbu

Select the correct answer using the code given
below :

(a) 1and2only

(b) 1and 3only

(¢) 2and3only

(d 3and4only

Which one of the following is the energy
source of stars ?

(a)
(b)

Nuclear fission
Nuclear fusion
(¢) Chemical reaction

(d) Photochemical reaction

The Nobel Prize in Physics in 2022 was
awarded for :

(a) Evolution of Universe

(b) Quantum entanglement
(¢)  Black hole
(d) Laser Physics
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(a) TN 45000 MW 28. U HI HI UEAT 5000 TOH H 44 km I gl 7

(b) N 23000 MW e B | ufe i B forat 2 2

(¢) YT 7000 MW (a) 14 cm
(d) THT 2000 MW (b) T7cm
() 28cm

95. 50 kg MM aTeNl i Ak U fawe @ (d 25cm
2 | af frwe 1 m/s? & W % 1Y FHed-few A
nfy w2, @ 39 safe w1 R foRaes Frehean | 29. T (347)192 x (143)25 % TS TIM (unit

am 2 place) T hIH-8T 31 & ?
(a) 490N @ 9
(b) 540N (b)..1+1
(c) 440N © 7
(d 50N @ *8

06. eafy ¥ way § Freffiaa #§ & $-01 B9 T |30, a7 wgaw T FA-A #, B 9 F TN FA W

¥ T AR AT T & A T W e 3%
(a) I qWcd i i 3= A F 58I 2 ?
(b) I AR & H I AW Al & (a) 95283955
(0 I aRed €aft § 3= 91 (speed) BN B (b) 61728395
@ = ane @i § = sl o 3= (c) 12345675
3w B 2 @ 59382716
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" 23,

Survey of India, the national survey and
mapping organization, works under the :
(a) Ministry of Education
(b)  Ministry of Home Affairs
(¢)  Ministry of Earth Sciences
(d) Ministry of Science and Technology
24. As of 2022, which one of the following is the
estimated installed capacity of nuclear power
in India ?
(a)  About 45000 MW
(b)  About 23000 MW
(¢)  About 7000 MW
(d) About 2000 MW
25. A person of mass 50 kg is standing in a lift. If
the lift moves in upward direction with an
acceleration of 1 m/s2, then the weight of the
person will be closest to :
(a) 490N
(b) 540N
() 440N
(d 50N
26. Which one among the following statements
regarding sound is correct ?
(a)  High pitch sound has high frequency
(b)  High pitch sound has high amplitude
(c)  High pitch sound has high speed
(d) High pitch sound has low frequency and
high amplitude
KSDG-A-GIP (9-

27.

28.

29.

30.

A)

A climber tries to reach the top of an object
which is 130 m high. He can climb one metre
per minute. However, as soon as he completes
5 metres, he slips down by one metre. The
climber will reach the top in :

(a) 2 hours 10 minutes
(b)
(c)

(d)

2 hours 45 minutes
2 hours 42 minutes

2 hours 40 minutes

The wheel of a car covers a distance of 44 km
in 5000 revolutions. The radius of the wheel

is :

(a) 14cm
(b) 7em

(©0 28cm
(d 25cm

The digit in the unit place of the number
(347)192 x (143)205 js :

(@ 9
®) -k
(e} F
d 3

What is the smallest number, which when
multiplied by 9 gives the product having the

digit 5 only in all places ?
(a) 95283955
(b) 61728395
() 12345675
(d) 59382716
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wh far Y oy, W G R MY F 4 A
o o sifere B | I g ot ot Y I %
5T & ot 2 @ afires | fian, 93 SR A A
st g 20 B | G i oy foRat B 2
(a) 6 a9

b) 1299

(c) 1099

@ s8ad

Sffigs § @ ®A-E, 9Rd % GEUE $
WIT-III § J1-9Refa 4S9 (the State)’ &g
1 gaifes g A 8 2

(a) @9 TR, Tt T TSR IR AR F
Tsa-8 % ofier gft s wifereer
aid i gHe R Tl % faummsd
(State Legislatures)

(¢) WY TR N WRA i T65

@ U9 TR, gt T THR, WA hl TG
sk wft o Rumsea it 9@ &
-8y & i @t wrE @ =
yifereprdt

frfifgd #§ @ SH-E1 Tofs g WRd |
SO e awT fatee § S T T (seats) %
e ¥ fadfia e w @ ?

(a) %H’HWE;{WW'&

b wRHE wd AT gfea

(c) fiycq SHIsheH e

@ Griferee i

R i a T i ds @ $ q &
Y TE R ?

(a) RS YeH
(b) TET
(c) WuTEH
@ oA

(b)

35.

36.

37.

38.

39.

(10-A)

g 6 gue H @ o aufd F ey H,

frfefiga & ¥ SH-A1/HH-A H97 T 7/ ?

1. g% ufufy ad 1921 8 e # o8 off

2. 3% TS & GHI, Tg ALY (Speaker)ai
frmonta wadia afafa 7@ off

¥ i T e w1 T W EE I AT

(a) ad 1

(b) HadA 2

(¢ 13 22H

(@ T LAE2

T TSI Sk i gfie &, wra § i &=
ST AT & 2

(a) TET YV, RO TSI N SHETE
(b) iR, SrevmeEe YT IR HETerd

(¢c) oTEUTEA YN, WERISE ST ffewm

@ wed vew, Afewm R wEHsg

frferfaa st & @ frget aul ts femeE
# g ey % 9 # R mn R, S oAy
(w@) # wgfg it smmy (R) & @ &
HRT B ?

(a) TYHIGA ITAashult

(b) HiH

(¢c) EHAH
@ wHEE

frffeq § ¥ A afe ¥, SR °
Hefta 8 ?

(a) qfimeeTs

(b) TeTeaTeERT

(c) dleHIaTq

@) 9REEy

frfafiga § 4 frae meg w2y § @i o W
T % uhEemr 3 verEd % H™ § ANeH
7T e 2

(a) V&SR A

(b) A A

(c) WT&'TQ"W

(d) S.TH. FRR




31.

32. Which one of the following is the most
accurate meaning of the term ‘the State’, as
defined in Part-III of the Constitution of
India ?

(@) The Union Government, all State
Governments and all local authorities
within the territory of India

(b) The Parliament of India and State
Legislatures

(0 The Union Government and the
Parliament of India

(d) The Union Government, all State
Governments, Parliament of India and
all State Legislatures and all local or
other authorities within the territory of
India

33. Which one among the following political
parties came second in terms of seats won in
the first Lok Sabha election in India ?

(a) Kisan Mazdoor Praja Party

(b) Communist Party of India

(¢)  People’s Democratic Front

(d) Socialist Party

34. Which one of the following States has less
than two Lok Sabha seats ?

(a) Arunachal Pradesh

(b) Goa

(¢) Meghalaya

(d) Mizoram

KSDG-A-GIP

A father’s age is 2 years more than 4 times the
age of his son. His age is also 2 years more
than 5 times the age of his daughter. The
average age of the father, the son and the
daughter is 20 years. What is the age of the
daughter ?

(a) 6years
(b) 12 years
(¢) 10 years
(d) 8years

35.

36.

37.

38.

39.

(11=-A)

With respect to the Public Accounts
Committee of the Parliament of India, which
of the following statements is/are correct ?

1. The committee came into existence in
the year 1921
2. It was not a Parliamentary Committee

under the control of the Speaker at the
time of its inception

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢) Both1and2

(d) Neither 1 nor 2

In terms of area under forest cover, the top
three states in India are :

(a) Madhya Pradesh, Arunachal Pradesh
and Chhattisgarh
Mizoram, Arunachal
Meghalaya

(¢) Arunachal Pradesh, Maharashtra and
Odisha

Madhya Pradesh,
Maharashtra

(b) Pradesh and

(d) Odisha and

Who among the following kings is described in
an inscription as the Supreme Being, the
cause of the prosperity of the good and the
destruction of the bad ?

(a) Gautamiputra Shatakarni
(b) Kanishka

(¢) Samudragupta

(d) Harshavardhana

Which one of the following Tamil texts deals
with grammar ?

(a) Manimekalai

(b) Silappadikaram

(¢) Tolkappiyam

(d) Padirruppattu

Who among the following did not contribute to
the preservation and documentation of the
ancient site of Sanchi in Madhya Pradesh ?

(a) Shahjahan Begum
(b) John Marshall

(c)  Sultan Jehan Begum
(d) J.M. Kenoyer



40. MR gHv w1 fafmiv fress gr fomn s @

41.

42.
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22

(a) LA TRIHEE

(b) 7 | A

(¢) ciferdrs HIféT HIARIH
@ Hifasmgs

frafafted wuAl ® foem Hifs

7€ Ffa & 5 78 98 @ ga & T oft, 9@ ¥
1950 § 36% EM I §¢ Hh 39HI Gth JAT8
e fea o o | wf 7 e B FHR 3R I
3 ae it He & Toe (Sfim use)
weo fear @ | U e erfteR A E
& # 75 TR @I 38 WA & fog Bfgw
fifu (s we) fuifa w, T 7 7@ =
geetifera s o frew fen R |

7q 78 H TEEH T

(a) NGRS

(b) GHTITEH TG

© ¥&

@ JoE™ T

frafefea sl w fmm HifT

1. om 2022 §, €gw TS HEE@Wl 3 TH
s, WREER, 3N GURIE e %
PR Y THE SR % §4 F T=I@l
A TY T Fehed i MR foh

9. WRA 39 uig 3 # A wh o1, SR @
w9 ¥ 39 Hehed I TG W@l

I & A P/ FAA FOH T R/ ?

(a) ad 1

(b) had 2

(© 13R23M

(@ T@1LIE2

(12-A)

43. @i g swfierd & s & foafafea 3 @

AT /HHA U T B/R 2

1. 7% §g® TS i iR o= qui gm

Tofia sifareel @ omafd sgEen
%! g HA H IEA ¢ |

9. YN 39 g I AR & 2 |
9 fw T e 1 SR R R I g
(a) Had 1

(b) HaA 2

() 13 2gHi

@ A@1L,TE2

. e R R 9 TeEs HoEe @ |

100 ¥ #t 31y F 7eg A 7 | 3% Frafafea &
¥ fras fae Aee R foan @ o ?

(a) FARIHS 1 SRR

(b) HIHH T fashR

(¢ Faftrm-amm S fasfa e
@ HIVNTs gl famfa s

. wwdw % we #, fefafes & ¥ s/

FAA HIA TR B/ ?

1. 9% Yot gt o fwl @ & U GuEs
2

9. W S%a H IR A W F TR S
oY TS99 R

3. Nl W gEd SEEE WA IR Heg
nfafafimai

#1 fm Qe B TET HHE IT A :

(a) had 13K 2

(b) had 13 3

(c) had 23R 3

@ %Had 1




40. ‘Predator Drones’ are manufactured by :

(a) General Atomics

(b) The Boeing Company

(¢) Lockheed Martin Corporation

(d) PrecisionHawk

41. Consider the following statements :

It was alleged that the river became dead

after its mouth was closed restricting its free

flow in 1950. The entire river bed was
converted into a dumping ground for garbage
and solid and liquid waste. The National

Green Tribunal has recently directed the State

Government to revive the dead river by

earmarking dedicated fund for the purpose.

Identify the river :

(a) Vamsadhara river

(b) Sukapaika river

(¢) Musi river

(d) Ulhas river

42. Consider the following statements :

15 In July 2022, the United Nations
General Assembly adopted a Resolution
recognizing the right to a clean, healthy,
and sustainable environment as a
human right

2; India was one of five countries, which
had originally proposed the Resolution

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1and2

(d) Neither 1 nor 2

KSDG-A-GIP

43.

45.

(13-A)

Which of the following statements is/are
correct about Mineral Security Partnership ?

1. It is an initiative to bolster critical
mineral supply chain, established by the
United States of America and other
countries.

2. India is not a partner of this initiative.

Select the correct answer using the code given
below :

(a)
(b) 2only

(¢c) Both1land2
(d) Neither 1 nor 2

1 only

John Goodenough, a Nobel Prize winner,
recently passed away at the age of 100. He
was awarded the Nobel Prize for :

(a) Inventing Chlorpromazine
(b)
(¢) Developing Lithium-ion battery
(d)

Inventing Morphine

Developing HIV protease inhibitors

With reference to Lakshadweep, which of the
following statements is/are correct ?

1 It is an archipelago consisting of coral
islands and reefs

2. It is the smallest Union Territory of
India in terms of area

3. The main occupation of people is
tourism and allied activities

Select the correct answer using the code given
below :

(a) 1and2only
(b)
(¢) 2and3only
(d)

1 and 3 only

1 only



46. fefafgd § @ S8 30 Afees TR F q@ W (49, Frafafad § @ F9-8 Hrren-omfa foga @57 -

o 78 € 2 IR Y9 # oo & 2
(a) wmafrn o didte 1. et
(b) wATafeET 3R T %
3. famieh
(c) e 3k &9 o
(d) e IR AT 9 R ¢ F2 F T = wd I A
(a) hael 131 3
47. wo@ e Fefafga d a frmew A fdm 2 2 (b) FHad 230K 3
(@) FAEE (c) haw 23 4
(d I« 33 4
) Ferfiforam
) & 50. f=faRaa & & forg wgred 1 SwwT Wit 3=
& o TS (lubricant) % ¥4 & g7 T Smar & 2
(a) TTHH (Graphene)
(b) 3 (Talc)
& TR AEE N e R LY (c) I (Glass)
FHA/PHY FI T /8 2
(d) T (Sand)
1. 3 Sl |ishad & R a4 §
5. 3 o SRR T A % i 3 51. ffafga @ @ =k, faftm @ i qoreet
% fore ot som o forsfua st 2 2
S (a) FM e % fre s > AM Y % R
= fow e e w1y =W T SR g I > & a0 > NEATH > G THW
@ Fad 132 (b) AM e & fow w3y > FM e & fae
I > GEA a0 > HATH > G THW
gt (c) §&W a@ > AM e & fow W& > FM
(c) had 23 3 T & U T > 36T > 379 THW
@  Faw 3 d) AM e & fow w3 > FM e & fog
I > I > 53T THI > GEH aa

KSDG-A-GIP (14-A)



46. Which of the following countries are not
situated along the coast of the Baltic Sea ?
(a) Latvia and Poland
(b) Latvia and Russia
(¢) Sweden and Russia
(d) Sweden and Norway

47. Lake Balkhash is situated in which one of the
following countries ?
(a) Kazakhstan
(b) Kyrgyzstan
(¢) Russia
(d) Turkmenistan

48. With reference to the Galapagos Islands,
which of the following statements is/are
correct ?
1.  They are formed due to volcanic activity
2. They are part of the South American

nation, Peru

3.  They are situated in the Pacific Ocean
Select the correct answer using the code given
below :
(a) 1and 2 only
(b) 1and 3 only
(¢) 2and3only
(d 3only

KSDG-A-GIP

49.

50.

51.

(15-A)

Which of the following coal-based power plants
are situated in Uttar Pradesh ?

1. Darlipali

2. Dadri

3. Singrauli

4. Vindhyachal

Select the correct answer using the code given

below :
(a)
(b)
(¢) 2and4only
(d)

1 and 3 only
2 and 3 only

3 and 4 only

Which one of the following substances is not

used as a lubricant in heavy industries ?

(a) Graphene
(b) Tale

(¢) Glass

(d) Sand

Which one of the following represents the
correct order for the wavelengths of different

waves ?

(a) Used for FM radio > Used for AM radio

> Microwaves > Infrared > Visible light

(b) Used for AM radio > Used for FM radio

> Microwaves > Infrared > Visible light

(c) Microwaves > Used for AM radio > Used
for FM radio > Infrared > Visible light

(d) Used for AM radio > Used for FM radio

> Infrared > Visible light > Microwaves




52.

53.

54.

55.

KSDG-A-GIP

sae i 3t % warfeewie (fom o) frga &
FIER, S I JgAT g T feat 8 2
(a) 03 faferm ad

(b) 4 -6 faferm ad

© 7-10 faferm ad

@ 13- 18 faferaa ad

el fiie 1 qUWH 240 K & e 210 K &
Sar ® | ferft wReege #, awe | wd afteda
(for o fomm) fopareh e &P 2

(@ b54°F

(b) 380°F

© 17°F

(d) 44°F

g # frfafad § 4 fpm I & Wiusa 6t
g98 3AfYres @9d 8l ® ?

(a) I

(b) FE
© TEEet (RA)

d @+

frafafea o 9 e faefm fafear =1 s
HHET ST 8 2

(a) Torfeea™ 3MgsHA™ (Christiaan Eijkman)
(b) el BafhE (Frederick Hopkins)
(c) WHIEMR %o (Casimir Funk)

(d) T« gea€ (Robert Woodward)

56. WA # T % WTEX U (TOFI) HrishH I1CS

57.

(16-A)

Vg THH B ST Saeuie (USAID) 3R
A TN o eV, 94 3R Jeary qiadd
HATe gRI YRW i T ua-afia S 9Ed @ |
3 HEHA W WRG % Fd WIeR TS HH-8
g2

(a) oW, fugwr, sfEmn, TSEUH, HENIS,

I Y 3N BATG

aw, fagr, sfEmon, TSEH, IO,

gofre 3R ufvem e

(¢) MY Yew, U™, (oYM, Jeiag, ufvem
s 3 afierg, Stifeen

d) I, oy wew, wfEmm, anfem,
TR, dfiieTg 3 3T Tew

(b)

frafafigs # @ #H-w FoH, Jaag TREd

YeIH gEeh (CCPD-2023 % AR @el

TE 82

(a) WA 4 CCPL-2023 H W 2 TYAT i
AN S 2 |

(b) WRA & CCPI-2023 H 8 TAM W TET T

2

(¢ wrd, fawa # So@y iedd w gawH
YasiH T arel 9 ofe eu & o T R |
39 gahih § WRA H & § AE IR
F13eE fohrew @ i w@r T R |

(d)



_52.

53.

55.
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(a)

According to the Big Bang theory of the origin
of the Universe, the age of the Universe is
estimated at about :

(a)
(b)

0-3 million years
4 — 6 billion years
(¢) 7-10 billion years

(d) 13— 18 billion years

The temperature of a body decreases from
240 K to 210 K. The corresponding change
(without sign) in the temperature in degree
Fahrenheit is close to :

(a) b54°F
(b)
1) 1I°P

(d)

30°F

44° F

Which one among the following sectors in
India consumes the maximum amount of
groundwater ?

(a) Industry

(b) Agriculture

(¢c) Household

(d Mining

Who among the following is considered as the

‘Father of Vitamin therapy’ ?
Christiaan Eijkman
(b)  Frederick Hopkins

(¢) Casimir Funk

(d) Robert Woodward

56.

57.

(17-A)

Trees Outside in India (TOFI)
programme is a five-year joint initiative by the
United States Agency for
Development (USAID) and the Ministry of

Environment, Forest and Climate Change,

Forests

International

Government of India. Which are the seven

participating states of India in this

programme ?

(a) Assam, Bihar, Haryana, Rajasthan,
Maharashtra, Uttar Pradesh and
Chhattisgarh

(b) Assam, Bihar, Haryana, Rajasthan,

Gujarat, Punjab and West Bengal

Andhra Pradesh, Punjab, Rajasthan,
Chhattisgarh, West Bengal and Tamil
Nadu, Odisha

Assam, Andhra Pradesh, Haryana,
Odisha, Rajasthan, Tamil Nadu and
Uttar Pradesh

(c)

(d)

Which of the following statements is not
correct as per the Climate Change
Performance Index (CCPI)-2023 ?

(a) India has jumped 2 spots higher in

CCPI-2023.

(b) India is placed at the 8t rank in
CCPI-2023.

() India is amongst the top 5 best

performing countries in the world on

climate change.

(d) India is placed lower in rank in this
than Norway and United

Kingdom.

index




58. UNDP ¥ <ifies amifors wMHge gas (St

ove e $299) % WR @M § | ¥
frferfea § & 91 T AW @7 2 ?

(a) TSHIfa®
(b) e
(c) FR%"%FAF
@ iR
59. @A i S ¥ dafuq Fefeafaa e w
ﬁa’r('éﬁﬁﬁ:
1. $E s 2021-22 H 3 -8l H A
T I o 6 18 off
9. YA TR A GiaH M i Huash &l
Frfea fomam 2
3. 3 afe gha uiEemet & fau g@mem
e ¥ I fo Smdn
4. 3 s focfim foma & 9@ 29 aed
yiftmt, wafeefs &9 @ duwefy 3k
ey e aREsHrRl § fraw % fag
g
It A | fohe o W & 2
(@ 1
(b) 2
() "3
d 4
60. frafufga fPrex oo (afiR)/aem
(F358) § A BH-F1, I AESH A 4 FE
gafera 72 2 2
(a) UN 2023 S7eX Hip8 : =[ATH
(b) SDG &fHe 2023 . gIfseTed, S
(c) FeAEHS TSR . T
gftre 2023
(d COP28 -G H
KSDG-A-GIP

61.

62.

64.

(18-A)

‘A’ 3 B’ I A T Y T 3 : 4% I
¥R o F &W & 9, ‘A’ A T 600 AT
fopu, siafes B’ 4 < 500 AfSta fepu | qenfu, &
¥ AT T 150 599 fopu 3 B’ 3 T 100 =@
fopu | afe & % ofa #, 9% 9@ A g
2, @ goE A &% 1w feef 99 == v
off 2

(a) T 150

(b) ¥ 200

(¢ T 250

d ¥ 100

T UM F 20% HIA a9 b RO T B/
T | WY GHE W 50% M W oS fam |

S 3 Het oo e fla foran 2
(@) 10%
() 30%
() 20%
d) 40%

T Afh 2 98 6 Ay F I 5% TURY =S
W RO AT & | 98 dohlel 39 €U W 5%

Tehafe oI W 2 99 H U mIT W @R |
If 38 2,100 1 &9 BaT & Ot 384 fepat
g st R form o ?

(a) ¥ 8,00,000

(b) T 4,20,000

(¢) ¥ 1,00,000

(d < 8,40,000

frafafga § & wA- waifes sffemia
uTg @ ?
(a) Na
(b) K
(¢) Ca
(d Mg




- 58. UNDPs ‘Gender Social Norms Index’
comprises four dimensions. Which of the
following is not a dimension ?

(a) Political
(b) Educational
(¢) Cultural
(d) Physical
59. Consider the following statements related to
‘Sovereign Green Bonds’ :
1. Union Budget 2021-22 announced the
issue of these bonds
2 The Government of India has approved
a Sovereign Green Bonds Framework
3. These bonds are meant to be issued for
mobilizing resources for green projects
4. These bonds are financial instruments
that generate proceeds for investment in
environmentally sustainable and
climate suitable projects
How many of the above statements are
correct ?
@)1
(b) 2
@©). "3
d 4
60. Which one of the following
Summits/Conferences is not correctly paired
with the place of the summit/conference ?
(a) TUN 2023 Water : New York
Conference
(b) SDG Summit 2023 : Washington, DC
(¢) Climate Ambition : New York
Summit 2023
(d cop2s : Dubai
KSDG-A-GIP

61.

62.

(19-A)

‘A’ and ‘B’ have pocket money in the ratio of
3 : 4. After the day’s work, ‘A’ earned ¥ 600
while ‘B’ earned ¥ 500. However, ‘A’ spent
¥ 150 and ‘B’ spent ¥ 100 during the day. If
they have equal amount of money at the end of
the day, then the pocket money ‘A’ had in the
morning is :

(a) <150
(b) ¥ 200
(e0 <250
(d <100

A businessman lost 20% of his goods due to
rain. The remaining items were sold at a profit
of 50%. The businessman earned an overall
profit of :

(a) 10%
(b) 30%
(c) 20%
(d 40%

A man takes a loan at 5% simple interest for a
period of 2 years. He immediately gives this
money on loan at 5% compound interest for
2 years. What is the amount of loan he has.
taken if he makes a profit of ¥ 2,100 ?

(a) ¥ 8,00,000
(b) ¥ 4,20,000
(¢) ¥ 1,00,000
(d ¥ 8,40,000

Which one among the following is the most
reactive metal ?

(a) Na
(b) K

() Ca
(d Mg



65.

67.

68.
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frafafea Shat % @@l § & *ha g, @@
@18 TH G Gl ST @ ?

(a) M, T, A
(b) Teft, SR, T
(c) ™, |, 9™

@) hie, dew, a9

frafafga & & SR gm, gl 3 &1 @@
IETET A AT B ?

(a) IS F TG AN AT HI ST
(b) TIE & 7Y R wfEw & qw
(¢) uftwl & v o Fidh F v@

(d) oA % AT (flipper) 3N Hgh & WG

faffgs & & et wa & fowem w— =
e ‘gavitar =1 fidem foram o 2

(a) HeSia

(b) HOTA &

(¢ foma v

(d) wfcas @2

Freffiaa § @ AR ge = R w
22

(a)
(b)
() SMUNg
@ wafa

oo
Hegu

69. X3 YH vy forfi @ #, X B Y& A W, -

70.

71.

72.

(20-A)

e 91 38 T 10 A &A1 | AfE 97 Sftaan 7,
WY T 50 fel | 3l 3 15 91 @ B 3R
X T 450 AT ®tar 8, d X ferat am Sfar & 2

(a) 8
b)) 9
(© 10
d 12

18 =it 9 @i, ue TN’ whm § 5w
Gligar & | 38 fepa wfawrad i g2 (discount)
firedt 2

(a)
(b)
() 40%
(d)

50%
60%

45%

frfofga & & #9, af 2022 § g JEHR &
focrar & 2

(a) TTAE QI
(b) Tarater 4t
(c) VM Houmfaersht
(d fiama O

3G 9TE 1 AW F91 8 58 NASA 3 fadrran
TS 1 SgHT % A T I AT b T |
% &9 #, qasx 2022 ¥ yafq foham 2

(a) SWOT

b) I

(c) FTEIRE AT

(d) T T (SpaceX)



65.

66.

67.
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Which one of the following groups of
organisms correctly makes a food chain ?

(a) Grass, Goat, Human

(b) Elephant, Goat, Grass

(¢c) Tiger, Snake, Grass

(d)

Insect, Frog, Grass

Which one of the following pairs correctly

represents an example of analogous organs ?
(a) Forelimb of horse and human arm
(b) Human hands and wings of birds

(c)  Wings of birds and wings of insects

(d) Flipper of whale and forelimb of frog

Who among the following directed the film
‘Subarnarekha’ made on the partition of
India ?

(a) Satyajit Ray
(b) Mrinal Sen

(c) Bimal Roy

(d) Ritwik Ghatak

Who among the following is the author of the

book ‘Rajtarangini’ ?
(a) Bilhana
(b) Kalhana
(c) Banabhatta

(d) Bhavabhuti

69.

70.

71.

72.

(21-A)

In a game between X and Y, X has to give
T 10 each time he loses to Y. If he wins, then
he gets T 50 from Y. If they play 15 times and
X earns ¥ 450, how many times does X win ?

(a) 8
b)) 9
(e) 20
d 12

A man purchases 5 shirts in a ‘buy two, get
five’ scheme. How much discount percentage
did he get ?

(a) 50%
(b)
(c)

(d)

60%
40%
45%

Who among the following was the winner of
the Booker Prize in the year 2022 ?

(a)
(b)
(c)
(d)

Douglas Stuart
Geetanjali Shree
Shehan Karunatilaka
Amitav Ghosh

What is the name of the vehicle which NASA
launched in November 2022 as part of a plan
to eventually carry humans to the Moon ?

(a) SWOT

(b)  Artemis

(c) Insight Lander
(d) SpaceX



73. S 2023 H, YR GR 4 =AE@E R faeEE
YR I HF A b I d WeRyy iR gog
Fifufem, 1996 o guri it fawiier @ & fog
e fosies e o1 e fban @ | Frafafea @
¥ # 38 giufa %1 17w R 2
(a) YGHRI WA I HEARETC!

(b) vear fafy wfea
(c) U gdadi fafy afea
(d) TH TG ARG H G AL

74. Trefafiga @ @ fpa oo gro wra-yem i &t
et <6 et @ 2
(a) W1 gu&n & (BSF)

(b) WRa-faesa €ar gfer (ITBP)
(c) HH UTHH
(d) dvE 991 5 (SSB)

75. gE 1 W g I % Wy gafaa Hifm 3k
g & 9 fr T g 1 W@ wE W
i

g1 gl 11
(57 AT e (AT
1)
A GHmEwE aRER 1 SAEEACE dgeefl,
Hd ife
B. wAeTEE wpd 2 ;ﬁ@mm,
C. @ifiq yfrewr @t 3. ASTATH HiSHH,
T
D. rEmETeds 7R 4. INS frarsh,
il uforewr wpa AT
%<
A B C D
(a 3 2 4 1
b) 1 4 2 3
(0)is.3 4 2 1
7, Lo 2 4 3
KSDG-A-GIP

1.

78.

79.

80.

(22-A)

"B

g S

U (Python) T 8 ?

(a) 3I=I-&L 9NT (High-level language)

(b) hISTAU ST (Assembly language)

(¢) I W (Machine language)

(d) Mgl URWIMT WNT (Data definition
language)

frafafige & @ R, o aifeafah

(network topology) ?3'7 % 2

(a) 99 (Bus)

(b) G (Star)

(c) A& (Mesh)

(d) ¥HH-EX (Peer-to-Peer)

A H q=h B (two’s complement form) p: R
3 -2 = fgamard =am (binary addition) hl
gftorms &= 8 2

(a) 10110

(b) 0110

) 1110

(d 0111

frafafgs 4 & =R, ﬁéﬂ‘l—ﬂﬁﬁ (Pointing
device) 78T & ?

(a) TEHHH (Touchscreen)

(b) el (Trackball)
(c) YIS @@ (Light pen)
(d) ShHEI&® (Scanner)

TR (Registers) # fhE TR (I@U) +
femf= (flip flop) 1 TAT Tk SiaT 2 2
(a) DYSR (IEW)

(b) SR
(¢) TSR (IrW)

d JK




73. In June 2023, the Government of India set up
an expert panel to recommend reforms in the
Arbitration and Conciliation Act, 1996 with an
aim to reduce the burden on courts. The
Committee is headed by who among the
following ?

(a) The incumbent Attorney General of
India

(b) The incumbent Law Secretary

(¢) A former Law Secretary

(d) A retired Chief Justice of India

74. Indo-Bhutan Border is guarded by which one

among the following forces ?

(a) Border Security Force (BSF)

(b) Indo-Tibetan Border Police ITBP)
(¢) Assam Rifles

(d) Sashastra Seema Bal (SSB)

75. Match List I with List IT and select the correct

answer using the code given below the Lists :
List I List IT
(Indian Navy (INS)
Training Institute)

A. Anti-Submarine 1. INS
Warfare School Venduruthy,

Kochi
B. NBCD School 2. INS Kunjali,
Mumbai

C. Music Training 3. INS Mandovi,
School Goa

D Provost and 4. INS Shivaji,
Physical Training Lonavala
School

Code:

A B C D

(a) 3 2 4 1

(b 1 4 2 3

(© 3 4 2 1

a 1 2 4 3

KSDG-A-GIP

71.

78.

79.

80.

(23-A)

PART B
PROFESSIONAL SKILL
Pythonisa:
(a) High-level language
(b) Assembly language
(¢) Machine language
(d) Data definition language

Which one of the following is not a network
topology ?

(a) Bus
(b) Star
(¢) Mesh

Peer-to-Peer

(d)

The result of binary addition of — 8 and — 2 in
two’s complement form is :

(a) 10110
(b) 0110
() 1110
(d) 0111

Which one of the following is not a pointing
device ?

(a) Touchscreen
(b) Trackball
(¢) Light pen
(d) Scanner

Which type of flip flops are used in registers ?
(a) D type

(b) SR

(c) Ttype

d JK



81.

82.

83.
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DBMS H f#Iehaid YEY9  (transaction
management) 4 ACID T’Nﬁ (properties)
formes fotu o gt 2 2

(a) UCIHIGS, hidehidl, TEEYH,

sepfafadt

FHATH, ST, EEYH,

sRfaferdt

() UeitHiEd, wiedd, ey,
weRfaferdt

@ weiutad, s, Fiwfad,
wpfafadt

(b)

CISF % wewi w fafafea & & +F
sfefam o] 787 € @ 2

(a) <& wfawy afufm, 1961

(b) WRdH g8 HigaT, 1860

(¢ TG He™ Afufam, 1936

@) yeerEm frawor srfufrm, 1988

g il g CISF & et wdl fepu
TAGSH HI, W HU Hded H {Eed
sEEaH ¥ 91 SuegEs war 8, Fefafead §
Y S &8 Fg eI s g 2

(a) 30 feT % Ja % TS A
(b) fasw gfwfeyr @ afaa foren S0
(c) et Tep

@ qftfar

84. helg Il e sa fufem, 1968 H .

85.

86.

(24-A)

g 8 % ot fer wu fopeht smew & favg
afieft sy ¥ =ufoq feeft weff fohu @ CISF
Hew g gAhE At Sed S i fafafdse
Jrafy & g 2

(a) 39 3w HYfd fopY ST 1 ariE & Th
arE $i iy & offaw

38 Iy wyfua fhr S i aE | @
| 61 safy & e

(¢ 38 ey Tgfea fohu SM it affa & d
| 61 3afy & fidw

38 ey Hyfua fpy 9 i At ¥ o8
ar| 6t safy % fiw

(b)

(d)

Fa sfafies guanm o eifufm, 1968 %

a7efie Wl fopu o ot so-mee Sfau feeemi

(restrictions)%m‘iﬁ:lﬁ | 37 R f=fafga d

{ HH-G1 AT g7 BT 2

(a) Trdfl oqoum @9 I 5w w9 & @Y
RERIECRE

(b) Terelt Tefees @ 1 Hew BT

() fre v Gad &1 ge= g1 8 s
% 9 % ®9 § ARG T8I 2

(d) AR TehR T HIS Tedeh TehIRIT HEAT

Fw shafis gen sw fufem, 1968 H
g 18 % 3t wdew & TRt srfasemor
(violation) a1 forelt frem = faffem = fomeht
wages e gr feu mu faftget emew =
AAGFHT W HET AT I THGFH U
HET, JY Iy e gHfa & & 2

(a) G 3 FHET

(b) T N AT
() T 3 WA
(d) @ 3N SHE



81. ACID properties in transaction management
in DBMS stands for :
(a) Atomicity, Concurrency, Isolation,
Durability
(b) Autonomy, Consistency, Isolation,
Durability
(c) Atomicity, Consistency, Isolation,
Durability
(d) Atomicity, Consistency, Infidelity,
Durability
82. Which one of the following Acts shall not
apply to the members of the CISF ?
(a) Dowry Prohibition Act, 1961
(b) Indian Penal Code, 1860
(¢) Payment of Wages Act, 1936
(d) Prevention of Corruption Act, 1988
83. Which one of the following may not be
awarded as punishment by the supervisory
officer to any enrolled member of the CISF
who discharges his duties in a careless or
negligent manner ?
(a) Fine amounting to 30 days pay
(b) Deprivation of special emolument
(¢c) Withholding of promotion
(d) Censure
KSDG-A-GIP

85.

86.

(25-A)

What is the prescribed duration for filing a
revision petition by an enrolled member of the
CISF aggrieved by an appellate order against
an order made under Section 8 of the
CISF Act, 1968 ?

(a) Within a period of one month from the
date on which the order is
communicated to him

(b) Within a period of two months from the
date on which the order is
communicated to him

(¢) Within a period of three months from
the date on which the order is
communicated to him

(d) Within a period of six months from the
date on which the order is
communicated to him

All members enrolled with the force under
CISF Act, 1968, are subject to certain
restrictions. Which one of the following does
not apply to them ?

(a) Associate with any trade union or labour
union

(b) Be a member of any political association

(c) Be a member of any society that is not
recognized as part of the force

(d) Publish a book of scientific character

What is the nature of offences such as
violation of duty or wilful breach or neglect of
any rule or regulations or lawful orders of a
supervisory officer under Section 18 of the
CISF Act, 1968 ?

(a) Cognizable and bailable

(b) Non-cognizable and bailable

(¢c)  Cognizable and non-bailable

(d) Non-cognizable and non-bailable



87. fafafaa weA w famr Fifse

1. ‘B 219 A &I fEka +9 & e co,

T JAT HET F1EY

2. ‘B TEY AR 1 FEh[ w0 & foe oo

5 TETEET 1 ST R S wehar @

3. ‘B 139 Af = FEba F0 % fau v

st w9 e 8§

4. Ut H 99 H FEUEYES T HET
iee ifh s6d B’ Y AT Har wwddt

S
3Tk HoEl H § PR wd 777§ 2
Fad 2 3R 3
Fad 131 2
+ad 3 3N 4

394 | | IS @

(a)
(b)
(©
(d)

88.

g2

1. =g &

2. Tt 7t & foR 5o a1 99 W
3. UgH W, & IH! ST & T ]
= feu T e F @ W FH IW gRT
Faa 2 3R 3

Fad 137 2

Fad 1371 3

1,23 3

(a)
(b)
(©
(d
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-0t gul feen & forw d@wifed @ SR

89.

90.

(26-A)

AR S GUH, THET AN TEALEA B
fRufor fope smam W feram wmar @ 2

1. e fhr 9 o @t (+i=atE) f
THid 3R MHR

2. WP 3R ypum hi whfa, @ ge T
3

= fou T e 1 3 W Ed S g

(a) had 1

(b) had 2

(¢) 13 22F

(@ TAML,TE2

e mva & fore frforfea & @ form fawa/feem
foawet <t gd St @ e 2 2

1. &3 sl e

2. &9 H IEE g
3. 3Taward ffedt it s@fedfa (location)
= feu T e 1 T W TE W g

(a) had 13K 2

(b) haw 23R 3

(¢) Had 1

@ 1,23W3



87. Consider the following statements :
1.  COy should be used to control ‘B’ type
fire
2 Special dry chemicals can be used to
control ‘B’ type fire
3. Foam extinguishers are less effective to
control ‘B’ type fire
4. Steam of water should be used with
caution as it may spread the ‘B’ type fire
Which of the statements given above are not
correct ?
(a) 2 and 3only
(b) 1and 2 only
(¢) 3and4only
(d) None of the above
88. What are the likely places of putting
anti-vehicle mines ?
1, In rocky areas
2. On tracks running along a river
3. On roads, where water has accumulated
Select the correct answer using the code given
below :
(a) 2and3only
(b) 1and 2 only
(¢) 1and3only
(d 1,2and3
KSDG-A-GIP

89.

90.

(27-A)

The composition, grouping and strength of

escorts is determined on the basis of :

¢ o Nature and size of the convoy to be
escorted

2. Nature of route and terrain to be passed
through

Select the correct answer using the code given

below :
(a) 1lonly
(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2

Prior information on which of the following

issues is/are essential for foot patrolling ?
1 Topography of the area

2 Population density of the area

3. Location of the terrorist camps

Select the correct answer using the code given

below :

(a) 1and2only
(b) 2 and 3only
(¢) 1lonly

(d 1,2and3



92.

93.

KSDG-A-GIP

g I
(T 7577 (H1 St Geai
o7 (GIMET)
S7fEfm, 1983 F
AR G 95719)
A. giam e 1. 99
B. gian Afysrt 2. Fesa
C. @ g e 3. S Hiwad
D. qftss gean ME 4. HEHEH FHISE
%< :
A B C D
(a2 4 3 1l
b) 2 3 4 1
(e)Esrl 3 4 2
(d¥- .4 4 3 2

fret wdf fopu T CISF @& &1, st i fopeft
IHEl g deETT GES I g5 fRdl S, AT
1 B & s & e 9fy =+ Fed
g7

(a) TR

(b) el R

(¢) g firwar

@ WeN 9ty

wfafgfs & e, il st wfofgfe « 8,
Ffa oNeifies g s rfufem o Fa
et gean s fem & IvEdl g wiea
am | wfafgie 1 swafy % g, Frafafea §
¥ a1 /P8 Frm anp 78 gm/E 2
(a) Taw 58, fEm 59 ik f=am 61

) w59, fEm 61 3R fam 71

(c) fTrm 58, fram 59 3tk frm 71

(d) haw =9 59

(28-A)

95.

94. o fufae fand (ffeor, femor ok orfier)

frmmaet, 1965 % v, f=fafea @ 4 fea
ey % fawg ardiet w&qa i o1 Fehdl B 2
(@) Trm 11 % atfim sfie fedt nfeq &
gfg F Fmen Hi§ W

Tegufa gr foRe T g aTew

frm 14 % s 9 F dm o
it g i foRa T 18 e
Jiqdd] JehR T hIg AT AT FTIAEH
FHrfard % 3ifaq F9er % TEEs 0 F
ET H IR, S e ew ¥ fie |/

ElTﬁ (fences) % R H frafafigs & @

HIF-AT/HH-8 HYT & 8/8 ?

1. TS geaw i vgel ufth 8

2. dg DNfHA (fence posts) ! HH-H-HH
30 Hie Y gt T wenfia fopan S =nfee

3. g & Afdi 9™ % &9 A A€ H
UL U (anti-climb paints) T
v feRan S =R

= fe TT e T T W FE IW AT

(a) had 131 3

(b) Had 23R 3

(¢) had 1

d 1,233

et & fou ffofeas § @ Saa/aR8
watftes yEfies 2/2 2

L. OCTV

2. hHgw

3. UH g

= few T % 1 @ W T IW IAC

(a) Had 13 2

(b) hadt 2 3R 3

(¢ 1,233

(d wHad 1

(b)
(c)

(d)




91. Match List I with List IT and select the correct | 94.
answer using the code given below the Lists :
ListI List IT
(Old designation) (Revised
designation
As per CISF
(Amendment) Act,
1983)
A. Security Guard 1. Naik
B. Security Officer 2. Constable
C. Head Security 3. Head Constable
Guard
D Senior Security 4. Assistant
Guard Commandant
Code : 95.
A B C D
(). 2 4 3 1
(b) 2 3 4 1
@ 1 3 4 2
. 4 3 2
92. The confinement of any enrolled member of
the CISF within the precinct of any barrack,
lines or camp for the time being occupied by
any detachment of the force is called :
(a) Arrest
(b) Open Arrest
(¢) Close Arrest
(d) Wrongful Confinement 96.
93. During the deputation, the officer on
deputation shall be governed by the provisions
of the CISF Act and CISF Rules. Which of the
following rule(s) shall not apply during the
period of deputation ?
(a) Rule 58, Rule 59 and Rule 61
(b)  Rule 59, Rule 61 and Rule 71
(c) Rule 58, Rule 59 and Rule 71
(d) Rule 59 only
KSDG-A-GIP (29-A)

Under the CCS (CCA) Rules, 1965, an appeal
can be filed against which one of the following
orders ?

(a) An order enhancing any penalty
imposed under Rule 11

(b) Any order made by the President

(¢) Any order passed by an inquiring
authority in the course of an inquiry
under Rule 14

(d) Any order of an interlocutory nature or

of the nature of a step-in-aid of the final
disposal of a disciplinary proceeding,
other than an order of suspension

Which of the following statements about
fences is/are correct ?

1 Fences are the first line of protection

2. Fence posts should be placed at least
30 feet apart

3.  Anti-climb paints should be used in
fences as an additional measure of
security

Select the correct answer using the code given
below :

(a) 1and3only
(b) 2and 3 only
(¢) 1lonly

(d 1,2and3

Which of the following is/are most relevant for
surveillance ?

1 CCTV
2: Key control
3. Access control

Select the correct answer using the code given
below :

(a) 1land2only
(b) 2 and 3only
(¢) 1,2and3

(d 1only



97. fafafes & @ fm gt & dR@ & amn

98.

99.
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f@m@@ (LTC) %1 39T 7T feran s wehan 2 2
oy et gt

arfsia g2t

TR oI

e a7 gR

(a)
(b)
(c)

(d)

¥aM (Dog) ENI waradl &3 M war & hi
gead & foau fefafed & @ -8 wr
fovaea & 2

1. 9 Y I GHH | gSer hH Il
2. T4 I FEAT (concentration of scent)
3. aAEfd e

4. YA I TEEA (fitness) hi fefd

= fou TT He H T = FE I gAY
Haa 1,23 4

%I 2,3 3N 4

Faa 1311 3

1,2,33M 4

(a)
(b)
(c)

(d)

S fafae dand aqg & R F ffaw w
T ‘% o At fgfeat feees gra 6t i 2

3YegE, T Sl Ha1 AR

TG T TUH

ARG T TSgafd

g # 3ae o faffde e

(a)
(b)
(c)

(d)

(30

=)

101.

102.

100, Fret @ A, d, S A st gEm

AUt =g A & fow wHan dg faffdse
27

(a) aFi § 9 foreht wifa & wrem o1, fedhi
arafy € a9 q $i Bt

Mt § ¥ foeet wifa & srema =1, Sah
a7ty gig af q i anfi

21 & § ferelt wifa & wrem w1, e
37afy grd a9 ek < Brfl

e HIaE ¥ 41 aFl # & fedft wifa
% wrEE 4, St srafy @8 ad o H
B gt o gt & off defim g

(b)
(c)

(d)

‘A’ T & ANIE W Alh-UTEhRl gRI @I 7T
e S g e R, IR W TH T IW H
98 four a1 2, Fms sru I8 fug 3w S

w feas @ a1 @ o forw 58 @&l wefta
forem mam a1 | A’ frfefiga @ @ fora susy &
e IrqUy 1 gt R 2

(a) YR g8 Hfgar H am 432

(b) WA g€ Higdl i 4w 433

(c) YR 8 Higar i ° 434

(d) ¥R g8 dfedr 1 um 435

A Stz w i R, 2 o aufefa d 2 *
Teaehied o Wl 3 3 7 it fvers amfd
% fom1 U & Had Yed & fag o amE
FH F OE Y A a1 8 | A’ I8 o= o
% 2 geah 3T F AW & fow 3| 2 f
foafera gfa uw 2 | A’ Fafafaa & @ e
UL HT ST B 2

(a) = 9

(b) =

(c) Hufa o gfafrm
(d) IS TG TE



97.

LTC cannot be availed during :
(a) Child care leave
(b) Earned leave
(¢) Casual leave
(d) Half pay leave
98. Which of the following factors are responsible
for the success of warning and detection by a
dog ?
1.  Ability of the Handler to read his dog
2.  Concentration of scent
3.  Density of vegetation
4.  Condition of fitness of the dog
Select the correct answer using the code given
below :
(a) 1,2 and 4 only
(b) 2,3 and 4 only
(¢) 1and3only
(d 1,2,3and 4
99. All appointments to Central Civil Services
Group ‘A’ and Central Civil Posts Group ‘A’
shall be made by ;
(a) Chairman, UPSC
(b) The Prime Minister of India
(¢) The President of India
(d) Authorities specified in this behalf in
the Schedule
KSDG-A-GIP

100.

101.

102.

(81=A)

What is the punishment prescribed for
criminal breach of trust by a public servant,
banker, merchant or agent ?

(a)

Imprisonment of either description for a
term up to three years

(b)

Imprisonment of either description for a
term up to five years

(c)

Imprisonment of either description for a
term up to seven years

(d) Imprisonment for life or imprisonment
of either description for a term which
may extend up to ten years, and shall

also be liable to fine

‘A’ removes a landmark fixed by a public
authority on a busy intersection, and hides
that behind a large tree, due to which it is no
longer visible to the public for whom it was
put on display. ‘A’ is guilty of an offence under
which one among the following provisions ?

(a) Section 432 IPC
(b) Section 433 IPC
(¢) Section 434 IPC
(d) Section 435 IPC
‘A’ being on friendly terms with ‘Z’ goes into

Z’s library in ‘Z’s absence and takes away a
book without ‘Z’s express consent for the
purpose of merely reading it and with the
intention of returning it. ‘A’ was under the
impression that he had ‘Z’s implied consent to
use Z’s book. ‘A’ shall be held guilty of which
one of the following offences ?

(a)
(b)
(c)
(d)

Breach of trust
Theft
Misappropriation of property

No offence



103.

104.

105.
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frafafgas & @ s, S8 * WUy w5
sifiar wes 7@ R 2

(a) o &
(b) SRAT T QT

(c) Towelt =afes =t gog a1 O 3ugfa & @ ¥
BT

(d) < g9

Faida &9 @ fogmuael 1 gean it
(security audit) -1 IS HLT 8 ?

(a) BCAS

(b) ICAO

() ACI

(d TIATA

a1 fife 6 a1 fereft sfenfies s61€ ® CISF

& I & IgE & §9 F G & | AT

srenfires 31s % veu-fRws % e & favg

Friar w2 | 39 Fafafed § @ eF-H

FriaTg S ?

1. S Gidl % HIeaH ¥ AUErhaistt
Y Hush T B T HA

2.  veu-fiews # Hew wgEndh 5 9g R
oft feufa o afedg 7 =

3. @R s W W@ T H, 3fug
UBTIHATSA! ! Fd-Sid H AT T

4, 29 I8 HEE I 6 319 UehAiai
FI GHST Thd & I I W S gifad
Thd &

A2 feu T He H T T T IW AT
(a) had 1,23 4

(b) had 1,231 3

(c) hadt 33 4

@ 1,2,33M4

(32-A)

106.mahﬁq%amﬁmﬁﬁnmmﬁ§{m-

TS % T9E & N T8 U foue 1 ewEw A

ST & | fowE-suEmalel ¥ wa-fd

g, 39 HH-d T st 2

1. 3IgH HHlcd & I B I B,
Fife 3 W gven foufedt @ fued &
foru wfifera & &

2. foret oft itfeufa o fomm-srqetorratatt
T& IHET

3. fanm-suEEeatst w1 sar a f o
THIE- AT &

4. faum-sgwEdisl H g ¥ At@ TE
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H= fou T fe w1 T R FE IW IR

(a) hael 1,231 4

(b) ohaet 1,331 4

(¢ 1,2,33M4

(d) Haet 23 3

107. faffgs & & #H A wica/micr

?/8 ?
1. Jad-gfg T

9. Tt ywE % @Y MR YA W ufdgw
yE Sieid gC A 9 & smfue sty %
fore 3a9 & 99 99§ foret fmax wehe
(lower stage)ﬁ@ﬁmiﬁl FAaafd

3. Srafd e

4. e @ farfaf ged wEaE %
AR A et

9 fou T g2 w1 T W HE I g

(a) had 1

(b) haet 13K 3

(c) had 2N 4

d) 393w | q HiE TE



103.

104.

105.

(a) 1,2and4only

(b) 1,2 and 3 only

(¢) 3and4only

d 1,2,3and4
KSDG-A-GIP

Which one of the following is not an essential
ingredient of the offence of theft ?

(a) Taking
(b)
(c)

Dishonest intention

Putting a person in fear of death or
grievous hurt

(d) Moveable property

Which organization carries out Security Audit
of Airports internationally ?

(a) BCAS
(b) ICAO
() ACI

(d) IATA

Suppose you are working as the head of the
CISF security unit of an industrial unit. You
are supposed to act against the kidnapping of
the Managing Director of the industrial unit.
Which of the following will be done by you ?

1. Try to make contact with the kidnappers
through informal sources

2. Convey message to the Managing
Director that he should not resist at any
cost

3. Do not try to be heroic, rather engage
the kidnappers in negotiations

4, Always assume that you can reason out
with kidnappers and win them over

Select the correct answer using the code given
below :

106.

107.

(33-A)

Suppose you are the head of the security unit

of an airport and an aeroplane has been

hijacked there. While dealing with the

hijackers, what precautions will be taken by

you ?

1. Follow the instructions of the flight
crew, as they are trained to deal with
such contingencies

2. Do not provoke the hijackers in any
circumstances

3. Convey to the hijackers that you are a
Sky Marshal

4. Do not make eye contact with the
hijackers

Select the correct answer using the code given
below :

(a) 1,2and4only
(b) 1,3 and 4 only
(€)1 15253 and 4
(d) 2 and 3 only

Which of the following is/are minor penalties ?

1 Withholding of increment of pay

2.  Reduction to a lower stage in the time
scale of pay by one stage, for a period
not exceeding 3 years with cumulative
effect and adversely affecting pension

Withholding of promotion

4. Compulsory retirement in accordance
with  the relating to
superannuation or retirement

provisions

Select the correct answer using the code given
below :

(a) 1only

(b) 1and 3 only

(c) 2and4only

(d) None of the above
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frfafiea § & SH-a1/a9-8 FoF 98 2/2 2

1. ¥S Hiead e AR 2

2. Iuffiees wags i 2

3. o Iftenfies e s @ Afufem ¥ oyw
I ! qRATNG T8 fohm T 3
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= feu T e w1 FEE W ad W g

(a) haet 23R 3
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(a) 1,233

(b) I 23R 3

(c) ae3
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110. TR AHE AR T & 7298 ht Fghe .

URd & Useufd g ush dfufa & fawien &
MR |t 9t B | Frafafea & @ =9 =@

. afufq < reaerar = @ 2

111.

112.

(34-A)

(a) WRA T JaFEA

(b) & WISl 1 R T Wt
(c) s BT | fager =t Ja

@ fafy 3k =ma &1 wr angss wft

oFe oAfUeeR e Afufem, 1993 H
frafefags & @ f el & 9 & fou
ray form = g 2

1. TSN OE SR R

2. TSI MY AHR 3=

3. UM MR Stfereptor

4. THY AR AR

= feu T e w1 T W A W g
(@ 1,2,33M4

(b) haw 23R 3
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(d) haa 1,237 4
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Hi= feu T e w1 yE W W g

(a) <hadt 131 3

(b) a3

(c) Hhaa 33 4

d 1,234



* 108.

109.
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Which of the following statements with regard

to CISF Act is/are correct ?

15 Head Constable is an under officer

2. Sub-inspector is a supervisory officer

3.  Joint venture is not defined in CISF Act

4.  Director General is appointed under
Section 4 of the CISF Act

Select the correct answer using the code given

below :

(a) 2and 3 only

(b) 1and 4 only

(¢) 3and4only

(d 1lonly

Which of the following statements is/are

correct ?

1. The Director General of the CISF can
confer local rank up to the rank of

Commandant only

2. The Director General of the CISF cannot
delegate the power of conferring local
ranks

3. The officer who has been granted a local
rank shall not be entitled to any extra

pay and allowances

Select the correct answer using the code given
below :

(@) 1,2and 3
(b)
(c)
(d)

2 and 3 only
3 only
2 only

110.

111.

112.

(35-A)

The Chairperson of National Human Rights
Commission is appointed by the President of
India on the basis of recommendations of a
Committee. Who among the following heads
the Committee ?

(a) The Prime Minister of India

(b) The Minister in charge of Home Affairs
(¢) The Leader of the Opposition in Lok
Sabha

The Minister in charge of Law and
Justice

(d)

The Protection of Human Rights Act, 1993
provides for the constitution of which of the
following bodies ?

1: National Human Rights Commission
2. State Human Rights Commission

3. Human Rights Tribunal

4.  Human Rights Court

Select the correct answer using the code given
below :

(a 1,2,3and4
(b) 2 and 3 only
(¢) 1,3 and 4 only
(d 1,2and4only

In the basic emergency plan, which of the

following steps must be included in a

shutdown procedure ?

1. Shutting off power to machines and fans

2 Opening windows (except in case of
bomb threats)

3. Closing valves

4. Unplugging vents and pipes

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 3 only
3 only

3 and 4 only
1,2 and 4



113.

114.
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geen fugal # & Freafafed § @ sR3
g2

1. feA®3T@ (Denial)

2. fedaw™ (Detection)

3. €= (Deterrence)

4. %R??FT (Destruction)
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() Il I

(d) YTl

A S ¥ IR i HEet g for I A
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1. wfeo w e feu fomm st o foa
9. dTEd HHTS hl T 3R Hided

= feu ¢ He w1 T R FE IW AT
(a) Had 1

(b) HaA 2

(¢) 13MW23gHi

@ TN A2

(36-A)

116. Frafufigs § @ e smar W wEfeys grm -

FieyH fep yem 78 hr smart 2
(a) Tehfaeh MTEratt § SoEE HH

(b) @@ ¥ qeh gHeAH aTEd =TeH I 3T
fraie

(¢) Ugg 94 d% I Tal & @Wes AN ;WTW
fepis

) AT T W GA-Hhe H IHe IqeAed

117. Frefafigs § @ SFa1/aH8 H9F T8 8/2 2

1. Tordt airenfies 3usn & HH=El S o
gm fear s gehar 2, AfG 9 TR Iy
1 qaT ST H HEEdT Hd 8

9. uf W Hdd SWENELGE TN
FHHETRE! @ & e &

9 fow U e w1 T W FE IR AT
(a) had 1

(b) had 2

© 13f2H

(d Td@1, T8 2



113. Which of the following are the three ‘D’s in the | 11¢.

Principles of Security ?
1 Denial

2 Detection
3.  Deterrence
4 Destruction

Select the correct answer using the code given

below :

(a 1,2and4
(b) 2,3and4
(¢) 1,2and3
(d 1,3and4

114. The magnitude of an earthquake is measured
by :

(a) Tiltmeter
(b) Richter scale 117
(¢)  Seismograph

(d) Seismometer

115. Briefing by the convoy commander before
moving off must be detailed and explicit. The

briefing should include :
¥ Distribution of weapons irrespective of
training

2. Appointment and duties of vehicle
commanders

Select the correct answer using the code given
below :

(a) 1only

(b) 2only

(c) Both1land?2
(d) Neither 1 nor 2

KSDG-A-GIP (37-A)

Commendation Discs cannot be awarded by
Director General on which one of the following

grounds ?

(a) Commendable work during natural

calamities

(b)  Accident-free driving and good record for

ten years

(¢) Clean and good record of service for

fifteen years

(d) Outstanding achievement in sports at

international level

. Which of the following statements is/are

correct ?

1. Employees of an industrial undertaking
can be granted monetary reward if they

help to detect serious crime

2. Monetary reward is admissible to

non-gazetted Government servants only

Select the correct answer using the code given

below :
(a) 1only
(b) 2only

(¢c) Both1and?2

(d) Neither 1 nor 2



118.

119.

120.

KSDG-A-GIP

fr=fafied & @ Si9-a1/®9-3 Fa9 98 8/3 2

1. g iafie gean s@ & wHawe
It héw fafee @and  (affe,
e e ardie) fammeett, 1965 gm@
wféd i 8

2. g I gam 9@ & wdl fpy MQ
Y@l W g TR b gedl Fram ol
¥ ¥ AR TE B &

= fow e e w1 T W FE W T

(a) had 1

(b) e 2

© 13M2gH

@ AW, T8 2

gfaa wifd o Iyfed SHefd (TR

framo) erfufam, 1989 & erefim, fhr @
YUY T HATY FEfeAfga § & B H Tt
22
(a) 13 gfera frprdl, St SP % & | A=
AR
1 gforg rfeeprl, S DSP & & & =
AR
13 gferm srfiesrdl, st SHO & 1% @ 4N
& AR
®1s giorm fieerdt, s Frlless (F999)
FaMRMeEaa

(b)
(c)

(d)

g Sifd iR sryfed SHTfd (ST
framor) aifuffem, 1989 # 2018 % @gH gl
-1 T IUGY ST 7T & 2

(a) HIT 14%
(b) HWI 15

(c) 9T 15%
(d) 9T 18k

121.

122.

123.

124.

(38-A)

X-BISH, TIP ¥ &1 qrcqd 2 ?
(a) WdU Ygda™ gfsean (Threat Identification
Procedure)

(b) TR H Bfd FT YR/ (Threat Image
Projection)

(¢) ulfera 3 ygem fopu MU Y (Tested
and Identified Packet)

(d) 90y YgEH WE (Test Identification
Parade)

o gren & wed °, v wifvm 6 fessht form

goft 7 a7t B 2

(a) Toewpies

(b) <T@ (Incendiary)

(¢) WawTeh gare

@ geER

frafafaa § & SF-a1/a0-2 @ 8/8 2

1. AK-47 T5%d H, 89 7-62 mm -
(ammunition) bl I9GIT Hd %

2. INSAS Us®d #, 556 mm TIiAl-TNel
(ammunition) <kl 39 femam S %

3. INSAS T8%d, AK-47 Ugha & B &t
?
4. AK-47 U3%d, INSAS Tshet & Wil gt 8

= feu T e # T W g W gAY
(a) Had1

(b) haw 132

(c) ad 3

(d) had 234

CCTV Hifiet % dey #, f=fafga & & s\

HY E T 2 ?

(a) W ! a3 fa=m & T S =Ry

(b) W 1 BRI S il AR T EHT1 AT

s H0 Yeh1Y % qUEd & s S

Ife G9a B a1 A & =T (stacking)

==

(d) GHET ® Fad H fafa & gER ahe[
TG 30 §Y T STHA | T AAT A1MRY

(c)



118.

119. Who among the following can investigate an
offence, committed under the Scheduled
Castes and Scheduled Tribes (Prevention of
Atrocities) Act, 1989 ?

(a) A police officer not below the rank of SP

(b) A police officer not below the rank of
DSP

() A police officer not below the rank of
SHO

(d) A police officer not below the rank of
Inspector

120. Which new provision has been added to the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 vide its
2018 amendment ?

(a) Section 14A
(b) Section 15
(¢)  Section 15A
(d) Section 18A
KSDG-A-GIP

Which of the following statements is/are
correct ?

1.  Supervisory officers of the CISF are
governed by CCS (CCA) Rules, 1965

2. Leave rules of the Central Government
are not fully applicable to the enrolled

members of the CISF
Select the correct answer using the code given
below :
(a) 1only
(b) 2 only
(¢) Both1and2
(d) Neither 1 nor 2

121.

122,

123.

124.

(39-A)

In X-BIS, what is meant by TIP ?

(a) Threat Identification Procedure
(b)  Threat Image Projection

(c) Tested and Identified Packet
(d) Test Identification Parade

In the context of Aviation Security, a
matchbox comes under the category of :

(a)
(b)
(c)
(d)

Explosive
Incendiary
Dangerous substance

Weapon

Which of the following statements is/are
correct ?

1z In AK-47 Rifle,
ammunition

2 INSAS Rifles
556 mm

3% INSAS Rifle is shorter than AK-47 Rifle
4. AK-47 Rifle is heavier than INSAS Rifle

Select the correct answer using the code given
below :

we use 7-62 mm

use ammunition of

(a) 1only
(b) 1and 2 only
(c) 3only
(d 2and4only

With regard to CCTV monitor, which one of
the following statements is not correct ?

(a)  Monitor should be placed in a curved

configuration

(b) The monitor screen should be tilted
upward to avoid reflection of overhead
lighting

()  If possible, stacking of monitors should
be avoided

(d)  Screens should be placed in a sequence,

providing logical continuity with

relation to location of cameras



125.

126.

127.

KSDG-A-GIP

VIP gia&f #, yfd 7 (counter surveillance)
iq el Bt 3 | v Frre % fere

frfefad § & sH-a1/5H-8 fed 2/ 2
1. THAR §gM 1 Y99 &, 3 e afa ofidf
A

9. et waa # g 3R 3rHEHTd T WY

3. H 9w firg 2 arf == 3@ 5w
1 IS 38 33T 7

H= fw e e w1 T W T IR AT

(a) a1

(b) 1,233

(c) hael 23T 3

(d) haet 13 3

foreht guefera ot g 1 ot S 2, Fred
T &% (Digital Signature) R FT
¥ fou ©h wrgde Foit (Private key) 3t
Wit fHes # gofia FH & 0 T
@ Sl (Public key) ST & 2

(a) STEAMHT TG oAt

(b) Gfera woredt

(c) Tmfia g ot

@ s s o

¥ 2015 §, WA & I=qW AEE 3 g1 W
Srefieht arfufiem, 2000 1 9T 66 H TEH
Yt 89 3R ¥Rd & HieuE % e
19(1)(%) ¥ foseror & Hrwr g foar on |
g TR ¥ IwaW =@ 3 I e
forotar feam o 2

(a) v T amt sam gfamon T3

(b) I THH TSH

(¢ % fue sAm wRa |99
(d) Y™ Hedl FAM qfHeHTg T5T

(40-A)

128. wA-su Famor sifufem, 2002 % A @i

it a1 il St 3w fufem &% ol

WRFAT &1 TN W §Y, RO B AE@G Y

o, an 0 % fou qowh d@ @ o 98 fea

gE | q&AE B 2

(a) 3 9% d% % HIEE ¥ JAYGT T 50,000
% % S A AYET G |

(b) 2 98 % % HEE ¥ JA¥A T 50,000
% % JAM Y T AT |

(¢ 199 dh % HIEE ¥ Ayal T 50,000
% % A | AT G @

(d) 6 T8 d% % HNEE ¥ &l T 10,000
% o S A AYGT GHI |

.y fraw srfufem, 1988 % ot famiw

=endfiei g fommofm Awe #, wWEIE:
fafta gty frad &, fomes o fommor g
o foran s =nfee 2
(a) ﬁﬁwza@i
(b) Tt T 3 a9
() o e 49
@) o o 599

. 9 o Gfgar, 1860 % f=fvfgd 3wyl &

g & & S wE, fEm e FEw
arffam 1 YR B 2

(a) T 58 % G 62

(b) 9T 1618 91T 165%

(c) YW 216@ ¥ °WI 226

(d) HT 478, 480, 490 3R 492

. TNT % Tey & fFefafgs § @ 981 FH

ud 7g7 2 ?

(a) TNT % qead ZEATSEIRIeEA &

(b) I 3h™ Md (creamy yellow)fﬂﬂ?l?ﬂ%

(c) TE U 3H Fafeh AgerH AN 2

) & F9 dgdr &1 oo ggred 7 SE
?



125.

126.

127.

KSDG-A-GIP

In VIP security, counter surveillance is very
important. Which of the following is/are
essential for counter surveillance ?

1.  Try speeding up, and then slow down

2.  Walk into a building and stop abruptly

3. Drop something to see if someone picks
it up

Select the correct answer using the code given

below :

(a)

(b)

(0

(d)

1 only

1,2 and 3

2 and 3 only
1 and 3 only

What is a system of a secure key pair
consisting of a private key for creating a
digital signature and a public key to verify the
digital signature, known as :

(a)
(b)
()
(d)

Asymmetric crypto system
Secure system

Symmetric crypto system
Digital signature certificate

In 2015, the Supreme Court of India struck
down Section 66A of the Information and
Technology Act, 2000 being
unconstitutional and violative of Article
19(1)(a) of the Constitution of India. In which
case did the Supreme Court deliver this
landmark judgment ?

(a)

as

Shamsher Singh Verma v. State of

Haryana
(b) Shankar v. State

(¢) Shreya Singhal v. Union of India

(d) Suhas Katti v. State of Tamil Nadu

128.

129.

130.

131.

(41-A)

Under the Prevention of Money-Laundering
Act, 2002, any authority or officer, who
without reasons recorded in writing, conducts
vexatious search by exercising powers under
the Act is liable for punishment of :

(a)

Imprisonment up to 3 years or fine up to
< 50,000 or both

(b)

Imprisonment up to 2 years or fine up to
¥ 50,000 or both

(c) Imprisonment up to 1 year or fine up to

< 50,000 or both
(d)

Imprisonment up to 6 months or fine up
to T 10,000 or both

In cases triable by special judges under the
Prevention of Corruption Act, 1988, what is
ordinarily the prescribed time period during
which the trial should be concluded ?

(a) 2 yearsin aggregate
(b) 3 yearsin aggregate
(c) 4 yearsin aggregate
(d) 5 yearsin aggregate

Which of the following groups of provisions of
the Indian Penal Code, 1860 form the basis for
the present Prevention of Corruption Act ?

(a) Section 58 to Section 62

(b)  Section 161 to Section 165A

(¢) Section 216B to Section 226

(d) Section 478, 480, 490 and 492

Which one of the following statements with

regard to TNT is not correct ?

(a) TNT stands for trinitrotoluene
(b) It is of creamy yellow colour
(¢) Itis a solid organic nitrogen compound

(d)

It is considered to be a low intensity
explosive substance



132. B & "oy § fafafed # @ =F-8 Fa @&

133.

KSDG-A-GIP

&2
1. W faowes feama # afma w0
¥ o srravaes q= oo B 8

2. fF g=m YRR F Wy § — wa-faes
(time delay), Wi fram (physical
action), 3R gteTor (environment)

3. TEEfw Ufhd, we-foes ®g % 3w
3 8

= fow T e w1 T W TE W gAY

(a) 1,233

(b) e 13K 2

(c) e 23 3

d) Had 13 3

JAdehare gHIfed &3 § ‘He® HaUY (Road
Block) foram Strar 8 | sad fam=farfaa o & form
fogra/fem fagat =1 omuew fRem S
=1fge ?

1. I8 AGHATeIl I aqE wied H HieATs
B Tehd! 8

9. TAH =1 oA I G H W M MY

3. IAMEE HUGH % IR FSH Y H
foru wififent <t ATt <t ST

4. GHfud GER-oIEEn §EAfUd A S, S
ot fierean el & foru =3 &

= fow T e w1 T W wE W AT ¢
(a) had 1

(b) hadl 2 AN 4

(© 1,233

(d) Had 133

(42-A)

134. e ®15 VIP Feet deat § 30 B, @ AR

Trﬁi’ﬂﬂ"ﬁ@"ﬁ%
1. AR e Iuceey 8 |

2. M AT (IHET) HicAl h BHEH i
Sicis

3. 3TEH % UM TeId FHH AT H T
9 2 |

I9YTh HYA! T A R /RHH T R/R 2
(a) ad 131 3

(b) a2 3 3

(c) had 2

(d) had 13 2

135. F=faRea § @ forg ome # S=qH —ARTEE |

frdw fu % Fig gadhar @ B HEH g
YA foRen S =nfR 2

(a) Tofld TREY T8 F= ¥ YR 9 T
I

(b) HiEA Hiw (T HrFa GEEd) s9m

URd §9
(¢) U B fHAETA =M HRA T TF 31

(d) S FAR sH T



132.

133.

Which of the following statements with regard
to fuses are correct ?

118 Fuses are simple switches required to
activate an explosive device

2.  The three main types of fuses are time
delay, physical action, and environment

3. Good example of time delay fuses are
chemical pencils

Select the correct answer using the code given
below :

(a)
(b)
()
(d)

1,2 and 3

1 and 2 only
2 and 3 only
1 and 3 only

‘Road Block’ is done in terrorist affected areas.
Which of the following principles should be
followed in it ?

A Ll It should make it difficult for the
terrorists to turn back

2.  Adequate troops should be kept in the
open

3.  Manning of road block should be done as
per traffic movement

4. Proper communication be set up, audible
to all nearby personnel

Select the correct answer using the code given
below :

(a) 1only

(b) 2 and 4 only

(¢0 1,2and3

(d 1and3only
KSDG-A-GIP

134.

135.

(43-A)

If a VIP is staying in a hotel, you should check
that :

1. emergency exits are available.

2.  incoming calls are screened.

3. valuables are deposited with the
bodyguards.

Which of the statements given above is/are

correct ?

(a) 1and 3only

(b) 2 and 3 only

(¢) 2only

(d) 1and2only

In which one of the following cases did the
Supreme Court give directions that statutory
status should be conferred upon the Central

Vigilance Commission ?

Vineet Narain & Others v. Union of
India & Another

(a)

(b) Common Cause (A Regd. Society) v.

Union of India

Centre for PIL v. Union of India &
Others

(c)

(d) Pravin Kumar v. The State



KSDG-A-GIP

136. H=Th ufysy ffy ik yehiol susy safvfrm,

1952 % e IS HHIR S UIA @A H
o 8, sfafiar i oy ww fen gan q«
HaE o, W@ v weed frefafe § @
fopart 3T STH T A ?

(a) 55a
(b) 58
(¢) 60a¥
@ 6239

137. wiar ufysy ffy ot vehiol suwy arfufm,
1952 % e, Uy whm i fom & 9w

Furavasiy dem ffy cenfya & sttt | 9vE
Ay & oo F sru Aefafea & @ sE-d
why gu™ 8 S ?

(a) U v whiE
(b) wHHET 8T gag S =hH
(c) T UvH &hiH
@ 3w d ¥ e T

138. wHa® ufyss fify =hw & I@la ®E

atftrer, el off e, feie o uftaféa femedt
ft 3R ¥ P % foe, sw% gra wiia foeft
Mt sy & R sl & e @ofta &=
Hehal & 2

(a) U W H q@ | ofiq 9

(b) TN RY H qrE & uiw o

(¢) 3TUA IR & qirg ¥ gt o

(d) I ARY H ahE A TH a9

139. Frafafga & @ =i, oheifies faarg sifufem,

1047 % a1efia fges /e s wiftrsrd 787 2 2

(44

~N)

140.

141.

142,

143.

144.

fisarea foFu ST Tl ST S R FEd 8 2
(a) TshH (THEH)

(b) WEHR

© Fe (F)

@ TS (I)

fraffiaa § @ we-a, TgITEE = W
(multi-user operating system) Erid &

(a) UNIKX

(b) Windows XP

(¢) MS-DOS

(d) Windows 2000

fafafigas § & F9-1, F=Ro1 qeaw H gaad
YA B ?

(a) T Hed (Coaxial cables)

(b) Wﬁﬁ'ﬁ-g‘ﬂ F (Twisted-pair cables)
(¢) HAGTh feol (Infrared rays)

(d) SIS BIgSR (Optical fibers)

rfafga & & fra diereiar &1 3w foRef
IP 99 (address) % &7Td MAC 9d (address) %
fufor 3 fore feran S 2 2

(a) ARP

(b) 1IP

(¢) ICMP

(d):  ETP

wieg 3R ardl ¥ Ffafga & & S 3w @@
gafea 78 2 2

(a) dEd : fed fFEem e &1 seurEt
w9 ¥ s L e s

FWEd : W oA # fedt P &
G, JEHAAT, TR

freiem : Freiem dfae & Fdiemr T fe
IR ¥ yhomrEsy SR H Far H
gy

4} ; et Frelem 1 e a1 3ass TRt
T &1 TRl ®9 @ g forn S

(b)

(c)

(d)



" 136.

(b) 58years
(c) 60years
(d) 62years

137. After framing of the Pension Scheme under
the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952, a pension
fund shall be established as soon as possible.
The establishment of the Pension Fund shall
lead to cessation of which of the following ?
(a) Employees’ Pension Scheme
(b) Employees’ Deposit Linked Insurance

Scheme

(¢) Family Pension Scheme
(d) None of the above

138. A Tribunal under Employees’ Provident Funds
Scheme may, at any time, with a view to
rectifying any mistake apparent from the
record, amend any order passed by it, within a
period of :
(a) three years from the date of its order
(b) five years from the date of its order
(¢)  two years from the date of its order
(d) one year from the date of its order

139. Which one of the following is not an authority
appointed/constituted under the Industrial
Disputes Act, 1947 ?
(a) Conciliation Officer
(b) Board of Conciliation
(¢) Registrar
(d) Works Committee

KSDG-A-GIP

Under the Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952, an
employee who is the member of Pension
Scheme is said to reach the age of
superannuation when such employee attains
the age of :

(a) b55years

140.

141.

142.

143.

144.

(45-A)

Program in execution is called a :

(a) Process
(b)  Product
(¢) Code
(d) Page

Which one of the following is not a multi-user
operating system ?

(a) UNKX

(b) Windows XP
(¢) MS-DOS

(d) Windows 2000

Which one among the fol'owing is the fastest
mode of transmission media ?

(a) Coaxial cables

(b) Twisted-pair cables
(¢c) Infrared rays
(d) Optical fibers

Which one of the following protocols is used for
determining the MAC address corresponding
to an IP address ?

(a) ARP
(b):. IR

(¢0 ICMP
(d FTP

Which one of the following pairs of term and
meaning is not correctly matched ?

(a) Lockout : Temporary closing of a place of

employment

(b) Lay off : Failure, inability, refusal of

employer to give employment
(c)

Suspension : Termination of service of
workman as a result of non-renewal of

contract of employment

(d) Closure : Permanent closing down of a

place of employment or part thereof



145.

146.

) yfqe stfufam, 1923 % dgd “huaH”
yiee § H wfha 787 & ?

(a) Torelht g 1 e A1 FHHIGH B HAA
qqH

) TRt et am & d9g § SR, dOW,
FoAR & &9 § 9l foman T =AfE

(¢) T 9 % G 6 eftga § wria +18
=fth .

@ v #E =afe S fedt S g faew #
H HH & fore Wl fopam rm 2

@< ufsear dfaar, 1973 1 amr 94 & e, yIw
i Afee Hiead I ufe @ FW 5 fHd
gfera il 1 aie grT 98 MR g @ehdl
2 5 98 3@ @A i o A, & OIUE g
Trft, fed gEda, g 8 &1 g 8 |
frfafigd #§ @ wiA-dt smftsHs I&qg 39 9l
% e e 7% & 2

(a) hepa rae
(b) et HaTd
(¢) AT TqY
@ rs forafed gee

147. T=afafes & @ #9, = I IX TR 6

KSDG-A-GIP

sifipen § et ceaaw, ade I = A A
st F fore are s %@ % fore wftpa & 2

(a) 3ITES ARRLE
(b) Y9 & =k afge
¢ foem wfomege
@ Tecdfra ot =nfes wivege

(46-A)

148. @< ufHan dfgdr, 1973 i amT 95 & e T5T

TR frafafga § @ 5 axgeti &1 wHuEw

# fau 9@ H Ao W oael R g

HAferepiicEt = finrda w0 % fog wiftepa =

TRl 2

1. Tifes iR Tt

2. THIEIH AT I GIIEI

3. TUHER-TA IR g

4. uIq 2 SAfufEm, 1889 % 3IgEA H WY
T H1g-TS

A= feu e He 1 T R HE IR gAY

(a) haet 132

(b) hae 3 3R 4

(c) aei 1,233

(d) hae 23R 3

. 98 fafga oog & w7 2, e =8 =afe <8

yfseam @fgar, 1973 & 4@ 95 & e fopy Mg

TUIET I GO I FAEA HH b T IA

AR T SATET L b 2

(a) T9F § Ve Swon & THRE H adiE
uge fe

(b) TSUF A U Hwon % YHEE H aE |
RIS

(¢) T9A § Vet Swon % TehIE i ai@
= |1g

(d) T9T § Ve Swon & THRE H aiE
98 Hlg

. 3qed ot # 9 &0 % fog, g8 ufsen

dfean, 1973 6t urr 98 % e Frefofea & &
Rl amew %0 i wife 78T B 2

(a) Toem aforge

(b) 3IWEE AR

(¢) Yfera srefiers

(d) vum ot wfase



145.

146.

147.

The
Compensation Act, 1923 does not include :

(a)

term “employee” under Employees

A captain or other member of the crew of
an aircraft

(b) A person recruited as driver, helper,
cleaner in connection with a motor

vehicle

(¢)  Any person working in the capacity of a

member of the Armed Forces

(d) A person recruited for work abroad by a

company

A Magistrate of first class may, under
Section 94 of the Code of Criminal Procedure,
1973, by warrant authorize any police officer
above the rank of a Constable to search a
place suspected to contain stolen property,
forged documents, etc. Which of the following
objectionable articles are not covered under
this Section ?

(a) Counterfeit coin

(b) False seals

(¢c)  Obscene objects

(d) A controversial book

Who among the following is authorized to
grant a warrant to search for a document,
parcel or other thing in the custody of the
postal or telegraph authority ?

(a) Sub-divisional Magistrate

(b)  Judicial Magistrate first class

(¢c) District Magistrate

(d) Judicial Magistrate second class
KSDG-A-GIP

148.

149.

150.

(47 -A)

Under Section 95 of the Code of Criminal
Procedure, 1973, the State Government may
declare forfeiture and authorize Police Officers
to seize which of the following items ?

1 Paintings and drawings

2. Photographs or other visible

representations
3. Newspapers and books

4, Pieces of metal made in contravention of
the Metal Tokens Act, 1889

Select the correct answer using the code given
below :

(a) 1and2only
(b) 3 and 4 only
(¢) 1,2 and3only
(d) 2and3only

What is the prescribed time limit within which
a person may make application to the High
Court to set aside a declaration of forfeiture
made under Section 95 of the Code of Criminal
Procedure, 1973 ?

(a) Fifteen days from the date of publication
of such declaration in the Official

Gazette

Two months from the date of publication
of such declaration in the Official
Gazette

Three months from the date of

publication of such declaration in the
Official Gazette

Six months from the date of publication
of such declaration in the Official
Gazette

(b)

(c)

(d)

Who among the following does not have the
power to make an order under Section 98 of
the Code of Criminal Procedure, 1973, for
restoration of abducted females ?

(a) District Magistrate
(b)  Sub-Divisional Magistrate
(¢)  Superintendent of Police

(d) Magistrate First Class
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